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1. Ziffer = N-Düngung

1xxx - ohne

2xxx -   60 kg ha  N

3xxx - 120 kg ha  N

4. Ziffer = Wiederholung

xxx1 bis xxx2 - Wdh. 1 u. 2

1 2 3 4 5 7,5 10

2.+3. Ziffer = org./min. Düngung

x01x - Stallmist

x02x - PK/o.N-Düng./o. org. Düng.

x03x - PK/o. org. Düng.

x04x - PK/Stallmist 1

x05x - PK/Stallmist 2

x06x - PK/Gründüng.

x07x - PK/Stallmist 1/Gründüng.

x08x - PK/Stroh m. N-Ausgl.-

          Gründüng.

x09x - PK/Stroh m. N-Ausgl.

x10x - PK/Stroh o. N-Ausgl.

x11x - PK/Stallmis 1/Oderbruchbod.
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Standards

StdA bis StdF - Standard A bis F wie x09x

49,98 m 8,33 m

2,60 m

7,20 m

122,40 m
125,00 m

4,50 m

1,915 m

3,83 m

4,00 m

5,00 m

1,665 m

3,33 m

- Ernteparzellen Getreide- Ernteparzellen Hackfrucht

4,00 m

1,60 m

3,20 m

1,60 m

3,20 m


